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Hour: 


Exponents

1. Simplify each of the values in the table.  
	2x
	5 x
	10 x

	24 = _______
	54 = _______
	104 = _______

	23 = _______
	53 = _______
	103 = _______

	22 = _______
	52 = _______
	102 = _______


2. Look at the values that you used to replace the blanks.  What pattern do you see as you go down each column?  

3. Use the pattern you described in Question 2 to complete the table below.  

	2x
	5 x
	10 x

	21 = _______
	51 = _______
	101 = _______

	20 = _______
	50 = _______
	100 = _______

	2-1 = _______
	5-1 = _______
	10-1 = _______

	2-2 = _______
	5-2 = _______
	10-2 = _______


4. What pattern do you notice in the row with 0 as an exponent?

5. Simplify each expression:

a. 2-1
            


 b. 2-2    


c. 2-3
